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Which of the following are vector quantities?
@) Density
(il)  Acceleration

(iii) - Energy
(iv) Force .
(A) (Donly ~ (B) (@) and @)
S (i) and @) (D) (), i) and @ii) .
SipsaRTL QIDDIGT 6Tene Gsné;urr’r N VY | |
Q) s ' ' -
(i)  pBésDd
(i)  HD
(iv) olems o
Ay @QuwiEd ' B) @ wHmd (1ii)
©) (@) whgod v) O @, () wpgd (i)

Match the following and choose the correct answer :
Type . Symbol of the element

(a) Alkali earth metal 1. Rb
(b) Radioactive element 2. As
(¢) Alkali metal 3. Mg
(d) Metalloid I v
() ) © " ©
A) 2 1 4 3
3 1 2 3 4
(G 3 2 1
s 4 1 2

&@&:.rdwumﬁ)mg) Gunmss &Iﬂu.u_rarcﬁlan_sbu Cabs®H :
uDs - gaflogder HIEG

(a) smywer 2 Cansd 1. Rb
by sdflwsss gafion 2. As
(c) &y e Gensd 3. Mg
(d = Corad Gumsll 4. Fr
_ (@) (b) (©) (d)
a4 2 1 4 3
®B) 1 2 3 4
() 4 3 2 1
D) 3 4 1 2.
3 . | - PSGS/N17
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3. Megaloblastic anaemia is due to the deficiency of
(A) Folic acid and vitamin B2
% Folic acid and vitamin Bs
(C)  Ascorbic acid and vitamin Bz
(D) Ascorbic acid and vitamin Be ' _ -

“Quasrdereviy s 755 Coamansssrar &nusuﬁfn
A)  SCundlé yllen whnw el Blér 9, Gapur®

B) SCurds sifled wHmw aul_Liflen 9, genpun
(C) @evammils sifew ORI @eulLbler 14, geapur®
D) sevsTTds il LHMID @eul.L.tler Y9, Ganur®d

4. The eytoplasmic connections between adjacent cells through the cell wall pores are known
as ' : '
(A) _ Plasma membranes (B) Endoplasmic reticulum
Plasmodesmata (D) Cellulose .

Qe seurt ganangetien m@u_m& <=D88055 QsisErsd @ml_GuJ aww,r_r,ﬁ@a;@m mm_Gl_nua'rrr&
PeremiiLseT Qeuainm HNMPESLILIGLD
(A) Uermevom seueysen B) aenGLrlemms uama

(O  vemevCur@LevGuol_L.m (D) GsogCamev

5. Fungi are : .
" (A) Chlorophyilous thallophytes / Achlorophyllous thallophytes
(C)  Chlorophyllous spermatophytes (D) Achlorophyllous spermatophytes
LHEHNEEET GTesTLIENE . .
(A)  usenswpdter grGorenUlHaEeT B) wsmswwHY grEoTELIL [BHEET

(©) uvémswearer evGQuTLCLImURasdr (D)  u&mswwopp @uiwGLrerul Hiser

6. ‘B'—cells of Islets of Langerhans secrete '
(A) Glucagon / Insulin
(C) Somatostatin (D) Calcitonin

mQeL e 1 ertisTCanarade o drer ‘B'—Osd&er Hré@E0 anriGumer

(A) - GEsssTen (B) @eénsedern
() CorCuCirCGaqem D) srodCLrafan
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7. Sloth Habitat project was launched in this state

( Gujarat
- (B) Assam

(C) Jammu and Kashmir

(D) Arunachala Pradesh

“CoHRTEID &Sl @m;bs&)as.sum‘.ﬂl_ é]ll_i_!b".Qg;lTl_lﬂlailllu.l'_I_ wmbleid

@A) egIs

B) Hemd N

(C)  gbap wHmd sregsi
D) smamrolbrCssid

- 8. The worlld’s first scanning helinum microscope is invented in 2016 by ‘

#) India A . B) USsA

M Australia o - (D) German
2016 G 2 wdler apsed afelusib aufsaanGarm’ L parCammsuliomen san®ify ssioter 5l
@ @ppur LT . ® o@uissr | |
©) e ACrailurm D) Ggiwef

9. The online pension tracking system launched by the union governmenf is
” " Bhavishya | (B) Vishram

(C) Sambhav o ' (D) Disha

BRI STETD gleussliuL (Herar ‘@mmlu_lg,m'@u'_@b‘ef,lu_l SLoblge. Goanat
@A) uefagur ®)  efliyymd
©) sbue - _ - (D) Sagr

B8 - | 5 ' - PSGSN7
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O
10. Who is the author of the book “Green signals : Ecology, Growth and Democracy in India”?
(A) Jayanthi Natara)an ' Jairam Ramesh
(C) Pahlaj Nihalani (D) Menakha Gandhi

“Green signals : Ecology, Growth and Democracy in India” erénp preves erp@wieui wmi?
(A) Qmupd pLyrgen (B) Qgupmb gGuwey
(€) uwapeg flaparef , D) Cuestsrbd

11. Match the following :
List I : List II

(a) Mohammed bin Nayef 1. President of Sudan

(b) Pedro Cateriano Bellido 2. 8t President of Guyana

(¢) Omar al-Bashir 3. Prime Minister of Peru

(d) David Granger 4. Crown Prince of Saudi Arabia
@ ®. © @

@) 1 2 3 4

B) 2 1 4 3

i s 1 s

D) 3 4 2! 1

Epsamcupemp QLRSS :
Lt wed L ig e 11

(@) Gorawg e HuLiLs 1. @ gerdud

® QuiCGhr Qe fAwrGenr QueaelGLT 2. swrem efler e Lteug ReTTHuS

(€) ¢ D vt 3. Qugp eflem 19ggLof

(@ Gl Qsyen@pi 4. Qgeardl HICHILmelien @aTeugsT

@ ® © @

@A 1 2 3 4
®) 2 1 4 3
) 4 3 1 2
o 3 4 2 1
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12.  Who is called as the father of Modern Technology?
/0 Nikola Tesla ®) Bill Gates
(C) Paul Andrew ’ (D) Charles Babbage

peier QgmAapiLLsHer gheas ereny empasiuBLet wrr?
(&) HaGsren Auevenr - ®) GéGsia
©) LT &R - D) smiraa GLCLE

13. Match the fo]lowmg Llst I with List II. Choose the correct answer. -
| List I | List 11 ‘
Created artificial blood vessel
Developed ten new antibodies to ﬁght cancer

(a) Junjiu Huang

(b) Alexander Khalessi
{¢) Fraser Stoddart

{(d) Peter Kristensen

Editing genes of human embryos

. oo

Artificial molecular pump

@ ® © @

@ 4 3 2 1
® 1 4 3 2
3 1 4 2
T 2 1 3- 9 &

g uied I-eyen |.||‘.|q.t|ié’0 II- Qeengg sflwrer dllen_enw AzfEAZHS.

O iguie I i © ulgwe I
@ -aiatglu.] Gouri 1. Qswpens Qrss ‘r_r,lrsrrm 2 (eurddlen
(b) &Ga)asamrawrur sQ0f 2. ybnGprenw @wuu@&gm ugg Cpmi e udi@ardaienu.
_ ' , 2 (meunddlemmt : ' ,
() Qrrevi e m__ ;2 waflg sg@aisrruﬁldn WIUGIa uF@gsmr
@) SCii Ol ensen 4.  Qeupens sigFHyermon @l‘,prru';l '
@ ® © @
A 4 3 2 1
® 1 4 3 2
© 3 1 4 2
® 2 1 3 4
B 7 | . PSGS/17
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14. ’ Identify the correctly matched pair(s).
I G.D. Birla Award, 2014 -
II. Gujarmal Modi Awafd, 2015 -

III. Shanti Swarup Bhatnagar Prize, 2015 -

y IandII B)

(C) IHandIII V (D)

Prof. San;~ev Galande

Prof. Mustamir Barma

Dr. Roop Mallik

Tand III

I only

shhwursl Qurmssiul Herer Gener/ Gmanaenar ST s,

L. . 1q.. Gireom afl(mg, 2014 -
II. @ghord Guomg efmg, 2015 -
IIL  &npd eveuml L amsit 6Sl(me, 2015 -

Gugm. sgpgeu sroanGL

Gur. (pegL AT LT

QPEREITRUIT (LI LOAEDIE

@) I uwopgw II - @) I womon I
©€) 1I wpgo ITI - D oo
15.  Arrange the following in chronological order :

1. Indian Ocean Tsunami “

1L Bhu) Eé.rthquake

TI. Kathmandu Barthquake

IV.  Uttarkand Landslide
A L1 - ® LIL1V, 1

F N TV 1T, 111 ' D) I, 1V, L Il

SpaE&TL_cubenn s Eyo @angpu an.. auflengiLBdsebd. -

L @bdw Curmd semmul
I g foppésd

HI. sngoran® BopHasd
IV. e ggysar’ Hlassiey

@ ILLIV,II I - ®)

I, IL IV, IIT

© IV,LILIII (D) ILIV,LIII

PSGS/17 | 8



17.

18.

19. -

Ganga Delta is an example of _
(A) Bird’s Foot delta _ ' % Aljcuai:e delta
(C)  Estuarine delta . (D) Fan shaped delta

shios QoL rellén wiamioliy] e1hs AL redlar o gmyard

(A)  upeeassTd QueoLr (B) el L cuenerey QLT

(0) | QumiiEb s Queer D) A&AH anqer QLo

The most recent Epoch among the fbllowirig is _
(A) Pleistocene ‘ (B) Miocene
V -Holocene ' (D) Eocene

Spsam_euhmer s HeTansETR HelldEsmal Qifley
(A) ddevaGreles - ' (B)  ewuwCGuireden
(C) GaprGeredern . : ' D) QCwumader

The organization in India which has celebrated its platinum jubilee on 26t September 2016
18 : , ‘ ‘ '
@) TIFR ®B) BARC

CSIR b S , (D) IMD

Qai_bLn 26, 2016 @ievy seng Lieuer eflprelilenar Qamam gl @p@u Hlireurs SiIoLi agi?

@ Wy = (B) BARC - .
(C) . CSIR - | (D) IMD | :

Who was the person behind White Revolution?
(A) Menon - y Dr. Verghese Kurian

(C) Swaminathan ' D) T.K. Patel

Qeuarenin Yr_§&@ SIreRTLDIGI6UT WTi? -. '
(A) © Cuaren - o (B) vLmLir. Qauirdav @ffwel
(©) saumlipngen _ D) 4y.Gs v CLa

9 “ | PSGS/17
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20. Match List I with List I1:
List I List IT

(&) Rajaram Mohan Roy 1. Sati
(b) Narendra Natha Dutta 2. Swami Vivekananda
(c) Annie Besant 3. Theosophical Society
(@) Sikkhism 4. Guru Nanak
@ ® © @
7Y 2 3 4
- B 4 3 2. 1
© 3 4 1 2
D 2 1 3 4
utgwe-I e e ulguie-Il g Aurmssis.
L iguied I uigwed I1

(a) @gmggrymbd Gorsegmi 1

(b) BCrpdly 5rH sEST 2

(¢) svallQuaem. 3. @Tw EyTe Fau.,
(d) &&dw wed 4 GBS

£ L GI&L DL I MISED
seumfl Gﬁi(‘.?@&rrm;'ﬁ;r'r )

(a) (b) ©@ CY

(A) 1 2 3 4
M) 4 3 2 1
(C) 3 4 1 R
D) 2 1 3y 4

21. | Charaka and Susruta were prominent
(A). Astronomers
(B) _Mathematicians

M Physicians

(D) Philosophers

FuaaN, &elq.@grr Spps
(A)  eumar amevdyiser
B) safg Comsssr
©) wmsgeutsd
(D) ssseuesTatiser

PSGS/17 10



22.

23.

Which one of the following pairs were the main contestants for Prime Mlmstershxp after the

death of Nehru?

" (A)  Morarji Desai and Indira Gandhi
- (B) Indira Gandhi and Kamarajar

M Morarji Desai and Lal Bahadur Sastri
(D) Lal Bahadur Sastri and Indira Gandhi

GeeueuaTauppeT aThs Qenew, CrmeSler | mmpmsgu Gos. ﬂggmlr ugeﬁl&srrar W&

GumligurerisenTs @@pgnmm?

(A)  Qumymigd Gg,&rru_r whmd QBT sTHH

B) @sHrrsrpd wHHD STLITYT

(© Qumnigd Caemi LHMLD MO USSAT arrcm@iﬂ
D) e vsgnt sravdfl wHmyb @BHT ETHS

Match the following :
Names
(@) Mahatma Gandhiji
(b) Jawaharlal Nehru
(¢) Dr. Babu Rajendra Prasad ‘
(@ Dr. B.R. Ambedkar

@ ® ©° @

Aa 1 3 2 4
2 1 4 3
© 1 % 3 4
D 4 2 3 1
silwrer e Caibos(Hées :
QuuirsaT .

- (@) wsrgwraMhHD

(b)) gaapiered G

(¢) vmLmuny @unCiSly Ylpsrs -_
(@ vLréLiB.R. @bCGugsmi

@ ) (c) @

@A 1 3 2. 4
B 2 1 4 3 -
(Cy 1 2 3 .4
O 4 2. 3 1

0 N

W

Positions
First Prime Minister
Father of Nation
Chairman, Drafting Committee of Constitution
Chairman, Constituent Assembly

ugeslEsar
s Agsw wHSH
Ggall GgT
U TUL& G(peden gmwajr’r
sirflueewiy fiamn seudien gaaa -

1 | N = PSGS/17
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24.  Which of the following statements related to National Commission for Scheduled Tribeé‘are
false?

L 90t Amendment deals with it.
II. Commission is equal to civil court
III. President appoihta '_ofﬁcia.lé

IV. Prime Minister appoints officials.

A I1&UI | ® &IV
Q) T&II | MI&IV

Aereumpeuaneupmet Caflw LGy uilent oyeoammiid ubiiu seipmes ah,r_i)g]smcﬁ cgﬁeu Qels.
L 90 aug) s L ETflmsd @engl uPHlwg
. II. @eéreuranemtuid @q,@m.o B8 wernsgEE Hagreng
III.  Eyurs goeai sgauirsmer Coiey Qalieumt

IV.  Ypgw simwier sgieersamear Csiea delieun -

@) &I o ® M&IV
© O&II | ®) &IV

25. Who was elected unanimously in the presidential election in India in 19777
(A) V.V.Giri
®) Gyani Zail Singh
% Neelam Sanjiva Reddy
(D) S.Radhakrishnan ‘

1977- b e peLQupy QbHus Guurs seoaanr Ggigedla Gurn'_lq.us}dqﬂ RB LITHTE. .

CobESHESILI_LGUIT wimi? ' '
(A ‘ afl.efl. £

(B) Awraf Aguitcedin

(C) Booid s@gsfes Qg

@) erav. @ryrr;srreﬂ@siqw@

PSGS/7 | u B E2 | . B



26.  Match List I with List 11 and select the correct answer using the codes given below the lists.

ListI . ' ' List II
(a) Mandamus . 1. . Bywhat Vk;arraht (or) authority |
(b) Habeas Corpixsl 2, . Wé command .
(c) | Quo Warrants | 3. To be cerfiﬁed
(d) Certiorari | 4. Youmay have the body (or) to have the body of

(a) ®»  © @

@) 2 3 4 1
® 2 4 3 1
© 1 4 2 3

‘ 4 .1 3

utgwd I ever ulgwe Iy Qurmss, U1 DSEHES g(ﬂg; 2 g qu@maﬂ@w shwiren

eflenLanwg Qgfey Gaiiis.
Ll guel OCgua I '_
(a) werTLmOTEL 1. g a‘ﬁan&gﬁm Uiy
(b) Qmmﬂu.:cip SLIG - 2. | %a)mruﬁl'(gm
© g m&e&m; 3. sndmpeigpe \
(d éé’lr’rasp}rnﬂ . 4. . 2 Lew 2 amriged

@ O © @ @

A 2 3 4.

® 2 4 3 1
© 1 4 2 3
O 2 41 3

13 R PSGS/17
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27. . Who announced the proclamat:lon of Queen Victoria at Allahabad in 1858?

M Lord Canning

Queen Vzctona
(O Lord Mayo ' .
- (D) Jhansi Rani Lakshmi Bai

1858 e&CLmfiwr wamymenfl Guﬁ[ﬂé@émm SsTUTEHO SflBiFsg wni?
@A) srefidry -

| B) ?ﬂé@t..mﬁum wamymestl
(C) - CuGurdiry
D) grad gres e

. 28.  Arrange the following movements in order :
I.  Khilafat Movement '

I. Civi Dia-oléed.ience Movement

1. | Non-Cooperation Movement

IV. Quit India Movement

/ LILILIVS . ® BILLIV
Iv, 11, 1, I © ILLIV,I

Gerau(pLd @jme’s&uﬂ:ma‘r RUPEGUBSSIS |
1. Sernul Qussd

II. 51;1_. mgL’Jq ,@tu&mb

IIL ggglm;pmrrmm @umw

IV. Gmmmanu@m Qajaﬂcmg BQussd

A LILILIV ®) IL LI IV
(© IV, I 1 I M) LI 1Iv,II

 PSGS/17 | 14



30.

(d Royal Rajasthan

- @

Match the following :
Luxury Trains - Promoted by

(a) Palace on wheels

(b) Golden Chariot

(¢©)  Deccan Odyssey

Indian Railways
' Rajaéthan Government

Karnataka Government

A

- Maharashtra Governmeént

@ ® © @

@& 3 2 4 1
B 4 3 2 1
& 2 3 4 1
D) 1 4 3 2
Qurmsss :.
L by Qyuildsdr Cuotbu(pgHuwrauir -
(@) Guaed gy elae 1. @p8u@nieGa
(b) Ga;rro'ét..dr smfiwm_ "2, Bangavgien oins
© OLssren gud 3. asﬁ'prn_.st_r.aw.&
\ d) gmud prgevgTen | 4.

- LOQIDTY GG <

@ ® © @

©

3
®). 4
2
D1

O D

RS L -
DO vl

India recorded the highest growth rate of National Income durmg
(A) IFive Year Plan ' % V Five Year Plan
(C) VI Five Year Plan ' (D) VIII Five Year Plan

&g;is&rr@ub s sronsadld abs Lo Csfw aj@suﬁu] aaied ofsn e Pawns
Dopss? | | - | .
A) I gpgren® b ' B) V gigrer® HiLb -

© Vigpgran® S (D) VIII misran® S

15 o PSGS/N7
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31. Match the following :

States  Projects

(a) Tamil Nadu 1. Periyar
(b) Kerala 2. Kunda _
(¢) Haryana 3. Damodar Valley
(d) West Bengal - 4. . Bhakra-Nangal
®@ ®  ©
2 1 4 3
® 3 4 2 1
© 4 2 1 -3
Dy 2 3 1 4
QurEmEgs : _
AL - Hlumiser
(@ SOPBIGH 1. Quflwmr
(®) - Gsgerr 2.  @bsr
(¢) - apflwrenm 3. gnGwrgi Ceued
(d) G‘w;b@ GUIBIETETLD 4. L&pT-prRISD
(a) (b) (© (D
A 2 1 4 3
B 3 4 2 1
© 4 2 1 3
D 2 3 1 4

32. Disguised unemployment implies

&)

©
)

Technological inefficiency

Zero marginal productivity of labour
Full employment

Unemployment

" wenpps CeumarauritiSleenio eremug

A
®)

©

8

PSGS/17

Qgmid mu ggﬁﬂﬁmm e
e enplurerisatier @mdflene 2 epiiyg Sper aLrHBEED
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33..

34.

35.

36.

If 16“l February of the year 1993 was Wednesday then what was the 16t February in the
year 1995? ' . :
" (A) Thursday N ' (B Tuesday
W Friday =~ - - (D) Sunday
1993 aumLghed Dgaull 161b prar Lyger élggsmmu.lrr& Qmopsme 1995 %LD uGLHe Gogeud
16 gy1b preT eremen Hpawwns G mEESH? . .
(A Awumps Hypew ' ®B) Qsduaumis fpenio
(O Qausefis flpantn ' : (D) @rrdﬁlgx &lpanio
A’s new salary after 15% mcrease is ¥ 1932. What is the old salary‘?
@A) 1600 @l
(© = T1700 . D) T 1660
15% s PEsEG. tSlasrA uSeir yHw mﬁu.:m T 1932 arepfler A Qe Lienypwl esrFluib erevren?
A) %1600 . . 4 ®) % 1680
(C) T 1700 i (D) T.1660-
Find the missing number in the following?
5, 22, 68, 153, 287, —7
&) 385 —\ ¢ 9/480
(C) 530 A (D) * 450
SPULL cranenent samBI
5, 22, 68, 153, 287, —? _
(A) 385 _ (B 480
(© 530 ~ | - (D) 450
A rectangular hall 39 m 10 cm long and 35 m 70 cm broad is to be paved with square tiles.
Find the largest tile whmh will exactly fit and the number required.
. (A) 480 _ (B) 485
(C) 490 - P’ 483
39 15 10 Qs.18 ;Semo whpb 358 70 Qe ssan CaraT. gm AFauaus ape: AMDES ST 9@
GumiLme, ips a;@gpe;@ Qum@msgiome uS]es FsLLF g @Hser Grmmmm @§G§)6\J? '
A 480 : - (B) 485
© 490 | : - (D) 483
17 . N - PSGSN7 -
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37.

38,

39.

If @® +b% = 45 and ab =18 find l+%
a

1 | ' 1
/ i‘é’ _ | (B). ig

©) i% (D) +1

a®+b% =45 wppd ab =18 erefléd —1~+?1)- ETERTS.
. ‘ : o

(AN

@) t-;- . ® t

© £ D 1

The population of a village has a constant growth of 6.25% every year. If its present
population is 82,536 what was the population two years ago?

(A) 77681 - (B) 175,534

- M 73,111 | @ 76,742

0. Sgmogden waact Agnens GGy Sjns 9@@@«@ e 6.25% &q&@&n@@ Géd)&;pgj
AuQunpg SigeT wEsET Otens 82 536 eraﬂoo @uem@ AT DEEHES - (PET  GTEETENS
BrEpHEEED? |

A) 77681 - _ - (B) 75,534

(C) 173,111 o (D) 76,742

A sum of money lent out at simple interest amounts to ¥ 720 after 2 vears and to T 1020
after a further period of 5 years. Find the interest rate %

(A) - (B) 9%

/ 10% , | O 11%

e GHUYLL ey 2 yamhseaiad T 720 g ead 15];9@ @wg;m @@ 5 yeam@Bsefier T 1020

'- S THEDE) eTeNar DiFeT eullg. Sssmss STRTE. (euligenws gel ui iy crem Ga.rram)

A) 8% - ® 9%
© 10% - D) 1%

PSGS/17 | 18 | | | B



40.

41.

42,

43.

The average of 5 nos. is 120. Later it was found that instead of entering correct value 15,

data is wrongly entered as 5. Find the new correct average
Ay 120 g B 125

© 126 | - P

5 eransefien siaf 120 @@ Gemani Qaupdles @ erewr 15 erenp sfwmer wdliewu ALG 5 ererp
geupren wHuuns a(hss srrefl sansdlL g Asfiw absg. yfw sfwren sgraf cremen?

(a) 120 \ (B) 125

€ 126 : : - ®») 122

" If 20 men can build a wall' 112 meters long m 6 days, what length of a similar wall can be -

built by 25 men in 3 days? _
(A) 56 meters . ' % 70 meters : .

<€y 45 meters ' A (D) 60 meters -

20 gy a6 6 prisefle 112 B ;Es:r@,otmrr &mmry an_u}, Q.pwrra) 25 gy ger 3 ;brn..asaﬂco STEueUETEY

o souanr SLig @,ou;.uurr?
(A 568 - B) 708 i

(C) 458 , . ®) 60 B

The mode of the observations
2,3,7,84,24,3,9,2,74is

@ 2 o M2
' o 7

¢ 4
2.3,7.8/4,2, 4,39, 2,7, 4 aénp Lerefl ALTEASTGIG6n (&G (mode) —————— L.
@ 2. I ®)-2,4 -

© 4 . ® 7

A wheel makes 48 revolutions in 3 seconds How many revolutmns does it make in
30 seconds?

(Ay 400 — B) 420

) 440 o pfzxso,

U] mumm@ 3 prigsafiey 48 apmadt sHHADS a|(§§ g&smD 30 ebipmgsafied crggmen apenp
SHMILD? . _ '
@) 400 : S B 420

(C) 440 (D)} 480

19 ) - PSGSN7
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44. The function of AC dynamo is _
w to convert mechanical energy into electrical energy
‘(B) to convert light energy into electrical energy
(C)  to convert electrical energy into mechanical energy

(D)  to convert electrical energy into light energy

& AC Wenalwphlulen Cauenan

@) Quiy ppee Beranppens orppes
B) gl gppme Aaamppens wrHpes

©  Beramppeme Guisy ppers vrppes
D) deremmppera gefl yhomns wrbHmes

45.  The period of a geostationary artificial satellite of the earth is
(A) Zero ' - (B} 12 hours
V 24 hours "~ (D) 48hours

yell Hleneow Qswipena&Gamer Lysllenus geh @@ DO sHH euy THSHE Aamenenid Crybd
(A)  yhubd . , B) 12 wefGpyd
(©) 24 wefiCry | @) 48 wafiCryw

46.  Why does the sky appear blue in colour?
(A) Interference of light

M Scattering of light
(C) Diffraction of light
(D)  Polarisation of light

aumand B HpsHer Garenps smyerd mr@?
(A) gl Enss 6 efilenaray

B) afédspe

€) @aft flafiiny eflenamey

D)  gafl geaeileneney

A
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® |
~ 47.  Which of the following has elasticity ne#rly equal to 1? .
_ (A)  Steel (B) Copper
_ M ‘Rubber . (D) Aluminium

BipsaarLaupmer agar sifls BUSssaenn gpéganu 1 246 BHEELD
(A)  eved . ®B) 5rru$lmn
© pour . ' (D)) algzuﬁlaﬂu_J_Lb '

48.  The oxidation state of an element in the free and uncombined state is

@ -1 ) @) +1
M o S ® -2
gaﬂgg wimb Ceupy cr,s@m.@u.o G&r,rrrme) @@&@m (Burrg] §aﬁm5£m Qg&ﬂg@mmgp GTesT
YEW.
@ -1 B) +1

©C o Y (D) -2

49. Water gasis
- a mixture of CO and H,- (B) a mixture of steam and air

| (C) amixture of C@ and N, (D) a mixture of CO, and N,

B eumuy ereLIg: . . _ _
(A) COweppw H, Geibg am swame B) Brrelud, srogib Coihs G swma
€) COwppd N, Coiipg @@ somal D) 'Coz whmb N, Coips @ someu

50.- The citric acid produced durmg Kreb cycle contains
‘ (A) Two carboxylic groups _ Three carboxyhc groups
(C). Four carboxylic groups _ (D) One carboxyhc group

Sy sipHHude e PuSHLITEGLD ARG Sif@wrag QarerigHUug
Q) @uen® sriursddls AgrEHadr - B)  apeny sriungdalE QprEHae
©) prag sriurafldls Opradacr D) o sriursddls Osn@d

B . g 21 . PSGS/17
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'51.  Which bacteria cause Enteric fever in man? , |
Salmonella : (B) Cornybacterium diphtheriae
(C) Bordetella Pertusis - D Treponema Pallidium '

GLDETEDS L HUTEGL Lindefur eios eTgI? :
(A) sr@werder o B) snireiCuEL b giSACW
©) umQL QLo QuirBeiiav - (D) gAuGunfor Guelipww

52. Idiogram refersto
(A) Diagrammatic representation of genes _
Diagrammatic representation of chromosomes
(C)  Electroencephalogram '
(D)  Electro cardiogram

@i Guirdlyrd erepred

A) gBensener GhlEL LD

(B) @thn@mn@ombsméré; BMEED UL
(C) s GrraartsuGondgmb

(D) ereaGyr aming Gurdlymbd

53.  Which country won the Euro Cup 2016 title?
' Portugal _ - (B France
(C) © India . ' (D) Italy

wpGrm &0 20163 Geuap prB?

A Cumidssd ' . ®  Qgrenev
©) @pHur ) - D) @ssred

54. In which place did the Prime Minister Narendra Modi launch the “Swachh Bharat

Abhiyan”? _
Assighat (B) Jantar Mantar
(C) Rajpath | (D) Rajghat ‘

Gpgioi pCrEHy Gomg. “gmisenn QHHur snSlwires” @l'_l_g’;dugs i@ Qe eeugsi?
(A) aeiua’_&enm.’. : _ B) ghsTLHST
©) yrgung ' (D) grgerl

PSGS/17 ' . 22 ' B
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55. The Author of the famous book ‘The making of India : The untold story of British
Enterpnse 18 ' : :

(B)

€

O

Mr. Kartar Lalvani
Mr. Kailash Satyarthi -
Mr. Sujatha

Mr. Lama

s

“The makmg of India : The untold story of British Enterprise’ cram) UsBEE0S cr@@u_:eun

4)
®
(©

™

G
ﬁ@. STFTT eI
S(m. naandy spLSh
Q@. SRTHT

- H(p. eomor

56. The number of countries signed the Paris climate agreement as on 22 Apnl 2016 is .

G

140 , : (B) 110

- gt S (D) 190

22 gliré 2016 aueny Linflev QeutiuBlena @UinpssHe waQuipsHl L Brhsaiier aaralsms

@
©

140 ' ®) 110
175 Y (D) 19

57. The Fu'st Woman Chau'person of the State Bank of India is
” Arundhati Bhattacharya '

®)
©
D)

Chanda Kochhar
Kiran Mazumda;'Shaw
Shobana Bhartia

ungg evGLL. uflulien apgd Guen geneeult

7N
®)
©
®)

Si(HHSH L L TFFmIIT
shgm Qanési

&yext DS Qg -
Cagrenm umirgSwir

23 | - PSGSN7
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58. Assoc:ate correctly the following Indian sports persons with their sports

_ (a) Abhlshek Verma L Snoocker
(b) _ Pankaj Advani 2. Boxing
(¢ Pinki Jangra 3. ' Tennis
(d) Sania Mirza 4. Archery
(A a2 b4;c-1;d-3 - y a—4; b-1; c~2; d-3
©) a2 b4; -3 d-1 D)  a-1;b4;c¢-2;d-3

Qewaumd BHw eflenerun’ B efyiseer <DHeUTEHEHEDL L aﬁlmmu.lrrLGL.rr(a &lﬂu_rrra;g nguqu@w&.’
(@ 29Cags euiitom 1. Cuens&Gard LuST LD
(b) uensl oGeurafi

2 GHEI& FeRTenL
(©) Dend gmandlyr 8.  GQuenafled
' 4

(d) sreflur Sievs eflocligms
(A) a—2;b-4;c-1;d-3 5] (BY a—4;b-1;¢-2;d-3

(C) a-=2; bH4;c-3;d-1 | {D) a-I;b-4;c-2; d-3

59.  The city having odd-even scheme to reduce pollution is

(A) Kolkatta | & Delhi

(C) Mumbai ' (D) Pune

OT&U Gz BODEGD QUL H Ghen- ol e L ib 2 _érer pETD 2ED.
(A QGardasst B) Qe

(C) @wau , D) yGCer '

60.  International dance day is observed on

(A) Mayl | (B) April 30
(©) May2 | | 4 April 29
| girauGas B g1 HreT . sieny sl B SstBHpg!.
(&) CGwl B) Gty 30

(C) Guw? @) qLigé 29

PSGS/17 | N 24



61.

- 62.

63.

The only one Indian Test Cricket Captain, who scored double century outside India is
(A)  M.S. Dhoni _ ' (B) . Mohammad Azharuddin
(© ViratKohi -~ . (D) Pataudi |

D|WIDBTL Ig 6D, Gh_am_ Q,sm_lﬂso Qrien &g UGS 9@!} T @pﬁm Ql_eml__ Ga;ul_w

, — <SG,
@. Ms. Ggrraﬂ B apswg g
M Ay Camredl ' ' D) u CLmg

Identify the correctly matched pair(s)..

L Asian Games, 2018 ' —' Jakarta and Palembang
H. Commonwealth Games, 2018 - Gold Coast '
III.  Olympic Games, 2020 - - 'Lausanne.
ﬁ/ fandTonly | g (B T'and Il only
IT and III only - , (D) Illonly

tS]GerJ@mafmgb;ﬁiaSl@;bgj. Fflwursli QAurmssLIULDdreT Qe (1) Benamscner S&TL .

I. 8w aﬁla)manL@. 2018 L= gUsiET LHpb LTBLIT
CIL - smosrQeudp cimarun’@, 2018 - Garérl Gapnev® pa
M. gdlibds sleanur, 2020 —  onGear
@ IopglEemnd © C® Twp@sd II oG
() Hwpgid M v G - | () I o

The “Integrated Women Safety Mobile Application” launched by the Umon Mmmter ‘
Rajnath Smgh is :

(A) Mahila . . | ” 'Himmai:
(©) Madath . (D Rakshak

mg@u.l whHR Haw. @rﬂrgmrrg Sy BQuTHSTITED Gum&aﬁw ung&rruqa;@&wg] Ggrrum@ eneuSSEIULL
@&UGUE Lwarurl e duwi eraren?

@) waRer B aflbws

© wup O e
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64. Pick out the incorrect statement from the following.
(A) The laterite soils are developed mainly in the highlands of the tropics
(B) ° The regur soils are rich in iron, but deficient in nitrogen -
W The top layer of red soil is red in colour, but the horizon below is black in colour
) The alluvial soil can be classified into khadar and bhangar soil

&Gy QsrRssULL Hetarancuaaies peupran unadlusens CsipAsEsad.
(A)  CoiLerl war swear wamn wgddr o uiflol ugdsiio Corandaps
B) fai wenerlld GELLE sHE HPELTE STRTUILGL, YD ®BLIRET &g,gj @wmeu &

| Bosew
€) Qevuwerefidan Cud SREE Haiy fipgder sreriu@o, <penTed @gm & BEG SHLUY

- Pogdlé sremruiuBo
D) a6 TR SNGT HIID UTBIST cTe @q@r@ aasans GNéEsombd

.66.  The index which has not been used in Thornthwaite climatic classification is

(A) Moisture Index , (B) Humidity Index
Vegetation Index (D) Aridity Index

FranggiaeuL g sTOfae aMSUUT igd LULUBSsUILLTS GDar i

A wraghsarniyg By mp LgE GlEm i,

© pragsEdany @) aplfgdhsmny

66. Choose the statements which are incorrect among the following :
(@ 233 °N latitude is Tro_pic of Cancer
b 66% °s latit'q.de is T_ro;;ic of Capricorn
© _231°S latitude'is Antarctic Circle
(d).  0°longitude is Pr;ime Meridian
(A)  (a2) and (b) (B (Dand ()
© @and@ @7 () and (©)
&Gy Qar@asiiul_Gararmasaid saprer aursduismer Gpia) Qsiss.
(a) 23%_060 2L Crns — 58 Crens
by 661 °Q§ 3|_& Cgena ~ sy Crens
(c) 231 °Q§ SIE Gyens — HHGLMTiq.& UL LD
(d) 0° §rss Grens — apgeneno §iéa Crens
@ @ opgn®) B) (@ wppid ©
©) (a)wppw (d) . D) (b} wpgw ()

PSGS/17 26 ' 8



67.

68.

69.

What are the characteristic features of a prokaryotic cell?

&)

Mitosis and 80 S ribosomes

® Membrane bounded organelle and incipient nucleus -
% Incipient nucleus and amitosis '

D)

®
©
®)

Of the following, who was the last Chinese pilgrim who visited India?

Mesosomes and 80 S r’ibos_omes-

- yGymGaflwm’ & Qsdelier smerruiuBid LidhTLjser wireneu?
Y

anw_Lrélev wpmid 80 S agCurGembd

séﬁmsmwd) Glul L FieRr o iy, QUGTIFE BEOLLING 2 1 8(T
eueTT&E] BEHLWITS 2 L& whoLd genwL_Lmélev

BCsrGenb whHmw 80 S arGurGsmb

Fahien 4 (B) Hiuen-T-sang

V I-tsing - AE (D) Taongan

Spsramueumear QuHurs @) ﬁ@mrmﬁi@@ aumos LAps Sarwmgat wmi?

@A)

©)

urgublwmas » ; By weumen seumm

Fol L D) LriGsramer

Name the Indian King who was compared with Napoleon

A)

©
@)

Chandragupta
Samudragupta
C}iandraguﬁta I
Chandragupta I

@sHwrellen srpg @irst ApCUTSLgILE GUELLLGARIT?

A)
B)
©)
D)

ehSrSIST
FQPHATGLST
s@,ﬂq@ugn 1

eyl Il

27
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70.  Arrange properly the following stages in an individual life.
Sanyasi

" Grihasta
Brahmachari
Vanaprastha

33 23 4’ 1 . (B) 2) 1’ 4: 3
3,4,1,2 D 21,34

‘F?’Nr‘

g

_ weflz mrrggsﬂsh Heoasaner gz.@réx(gu O

1.  spfluned T | ' , . ' »
2 Sysevsbd ' ' '

3. WgbwEsrfwn

4 aumamdyevsid

A 3,241 - (B) 2,1,4,3

© 3412 o ®) 2,1,3,4

71.  Identify the ﬁrst woman freedom fighter of Tamilnadu, who was imprisoned for one year for
participating in the Salt Satyagraha

Rukmani Lakshmipathi . (B) Capt. Lakshmi
(C)  Dr. Muthulakshmi Reddy (D) Nagammaiyar

slpssdled oLy sg@u.irrﬁqgmu Cumm’g8lé FHULLgDENs grren® sreb Amp dSssiul @,
&g Gawnul e apse Auearn efllgmes Gurrm L Quemoesflanw DIHLWITGTLD STeRT.

(A) - mswexd wlsfLg . (B) GauLen QL&A
(©)  UmsLi pégQarss Quiy (D) prsbewwTT

72. Seventh schedule of Indian Constitution cohsiats of
(A) Languages recognized (B) Tribal areas
y Distribution of powers - (D) Salaries and emoluments

@B Sipd srser s sHen q@rra.lgl S Lsuement QaEmerTiq.HLILIG)

A)  andsfssiiuc Qumfsdr - B) uvyhiEyWert &Lbuﬁﬁilul'_!_
©  ofaryLiéR ' (D) sbuertiser LHHID aHouTWHLIkEET

PSGS/17 > 28 . | B B



" 73. In India Public Order is i_x;t_:luded in the constitution as an item in
(A) Union List

| - M State List

(C) Concurrent List
(D)  Both Union and State List

@ungy S HUUTE eThs uu:;.weﬁla) a;rremuu@eﬂg)gj? : _ ,

Q) wiHu srETEE uuq_um} . _ , 4 R
B)  wTHe SFFTES L ig W6 . | ' - . L

(© Qurglulgud - ' ' \ bl \

D)  wsdw wHLD WIHle BIFFTRES LG WeEeT

74. . Which one of the followmg Artlcles provides for early Chlldhood care and Educatmn for all
- children until they complete the age of six years"

P Aviclet5 ' (@ Articlea4
(C) Article—43 B : (D) Article—41

Gerau(sLd SigFamblIL Hfaeic aTps Qe <o IS, @ppmgasm DIDLUYD QUMY B CUTHEHHE
seuaflLiyb, seeiflybd aaﬂs&@mm@m oTan S QIAmgI?

(A)  owemwlny &gl 45 : (B) aumwuu 0\ 44
€C) owsemwly 43 B D) aummug a9 41

75. How many seats does the union territory of Andaman and Nicobar islands have in -
Lok Sabha?

(A)  2seats ' ‘ _ (B) 3 seats.

' M 1 seat ’ : .(D) 4 seats

Caors sureiled Sibgoner AEGarLMT weflwer ACsss8DE appeman &Q]I:ILCI]G-MT} @) _fiser o_dreran?
@) 2@ dkiser | (B) 3 @Liiser ‘
() 1@uw ) o _ (D) 4@ rhuser

B _ 29 S : | PSGS/17
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76.  Which one of the followmg Articles says that Kolkatta High Court exercises jurisdiction
over the Andaman and Nicobar islands?

(A) 240 B) 239

M 241 o ® 242

ﬁ]mm@m Sl efadie abs gy SLEEST awmﬁ@mmmm apgmnm BaGarumt §aqaseﬁlw
Lﬁgj Blaumblud HHETTD LS55 eTais Smpéng?

Ay 240 - - ®B) 239

(¢ 241 (D) 242

77.  What is the Quorum in both the Houses of Parliament to transact business?
@#” 55 in Lok Sabha and 25 in Rajya Sabha - :
(B) 60 in Lok Sabha and 30 in Rajya Sabha
(C) 70 in Lok Sabha and 35 in Rajya Sabha
(D) 125 in Lok Sabha and 75 in Rajya Sabha

unqﬁ@ms&mg’,@s’a rreasEED AeuduL GappsuLg o gullent eremanflbama eTerner?
(&) 55 &peeu a@ﬁ&mﬁ&eﬁ wHpb 25 Cueamer &Qll.;llﬁ]aTﬁ‘G:dT‘
(B) 60 &ypea 2 guleariad LHHD 30 ¢ 2 plSeriaer
(C) 70 Spmes 2 pidaniaer opmid 35 Gueeney Q_g)sUISlarr’w;eir‘
@) 125 éypeasspulaisdr wpmpbd 75 Gmeve.»eu 2 puderiger

78.  {Which of the following items come under the concurrent list of Indian Constitution?
(A) Inter-State rivers '
. y Forests
(C) Citizenship ,
(D) Local Self Government

 Aeraumauaaupmier @bSu eirflueebly Aurgiuligwsd Gméssomg U g
(A wnfleobsEpsdaGuwirer Qg maay '
B) sr@aer .

©  eywflenw
(D)  sw (=) edrerm_& SIS EIGET
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79.

- ® 1

80.

Ma_téh A with B and choose correct answer from the codes given below :
A : . B

(a) Youhg Bengal Movement (1826-31) - Sayyid Ahmad
() Wahabi Movement Gopala Krishna Gokhale
{¢) Ramakrishna Mission Louis Vivian Derozio

(d) The servants of India Society

o o

Swami Vivekananda

@ ® O . @

1 4 2

- 2 3 4

€ 2 1 3 4
2 3 1

D) 4

Aap_er B Qurmss, ECyp Qan@ésiu’ Hérer gdluiGaaidipneg sfurer el _smul GCoiay G.;su'.y: ‘

A . B
(@) @emb euisrer Quissib (1826-31) | - 1L eEswug Sis0g
(b)) wanmd Quissd 2. Ganune Sgmeyer GCarsGo
'(c)’ Qrmodmegent GuSSD - . ma Gﬁlaﬂ wer GrresiGum
(d @i Coareuwimemt eréna;gb‘ < 4. samf fGusranbgi

@ O @ @

A 3 1 . 2
B) 1 2 3 4
©a 2 1 3 4
B B4 2 3 1

By which name did Ramanuja call the Sudras, who were coﬁverted into Vaishnavism and
taught them the holy mantra, ‘Namo Narayana'?

(A) AdiDravidas - . ' Thirukulathor

(C) Dalits -~ S ' (D) Harijan .

@ rmorgngpit @gﬁm’r&@é@ ‘BGor prymuet’ wWHSrsmss SHNECETRSS. HEUTEDET WG |
swWLSHHE LIHOD Geig SiauTsmer Gereumid s QUWTTD SiEDPSHTT?

A 24 ﬁuueﬁh.._fmdr ' B) JFHwmagensCami

(O plzgsar | - D) enfigen

31 nmm AL PSGS/NT
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81. The Treaty of Bassein was signed between the British and whom?

&)

Viswanath . ' ' ' ..

& Bsji Rao =1 | | _

(©)

D)

Balaji Rao
Sindhia

‘Lenger @UUIBSD RCawisErs@h wiksEWa Cw uubgrerg?

)
®
- ©

o

eflaveumTs

urgd gmeu

“ureorgll pmeu

Angwr

82.  Which is the correct statements about the results of ‘Vaikom Struggle of EVR’?

L.
II.

III.
v,
A)
©

EVR was known as Vaikom Hero'.

The untouchables were allowed to enter the Vaikom Mahadevar temple and Worship
God. ‘ ; '

The untouchables were allowed to use street around the Vaikom Mahadevar Temple.

Vaikom struggle was organized by a particular sections of people.

I and II S land 1l

II and III (D) IandIV

. Qeu. iy efilelt eneusaid Gumrm L gamed ghul L Blass sflunar cilenereys6r ereneu?

/]
II.

IL

IvV.

Y
(©)

PSGS/17

Q.o ‘areudaid e’ eremenLpdaL LI L.
Samiggargaisdt  wabsd warCgaur  Garddlo Qe aflur®  Qsdwe
S@IDHES LI L e, o

San_ggargeuisd maussd weMGsair Csmbmas spflydar SHsEmsgs Osdw

DA ESOLIL L e,

encu&ad CurprLL b ¢ fev tSlrﬂeﬁiarrfndJ 'r_r;l_ggugﬁpgj.

] (Bl S M
I whmd 11T D) Iwpms IV
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83.

84.

85.

The aim of Annapurna scheme is
M Providing food security for senior citizens
(B) Providing food Secﬁrity for children

(C) Providing food security for women -

(D)  Providing food security for pregnant women -

sienayent g1 e Ghrébsd -

(A)  Wwss GYEEERHE 2-Te U TSIy CUIDEIG S

B EphessErse e-are ugsi Sefiug)

(C)  QuatsEpés 2-amoy LUTGETOY eflliug
D) s@abDY QLETHEEEE 2 aTe] UTHETUY m@@@g@

Bharat Nirman Programme aims

(A) to provide educational facilities to rural people
y to ﬁrovide basic amenities to rural people :
(C) to provide employment opportunities to rural people
(D)  toprovide health facilitjés to rural people

“unyg Hiromer S slen GrraEsd

(A) Ay wEEEHEES soell ard Qsiig g
(B)  Syro EEEEE S LLeL. e:58 Qaiig SHougl
Cx é]ljrrmiméses@&s@ Ceuene eumiiy eusd Gellg smeng)

D)  dprwo wesEnsE saTHTT cuad Aalig QanBrug

The per capita income in India in 186768 was first ascertained by
(A) M.G. Ranade | (B) W.Hunter
(©) R.C.Dutt ~ @ Dadabhai Naoroji

- @ifuneiler 1867686 geflpu euwonemd Lpdl apseiled prmispgeurt wami?

A) MG grenCGi. . (B) W.epdni
(G0 R.C.s5 (D) grerumi QparGrag)
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86.  Which of the ;tatements given below is/are the features of New Policy?
1. Reform in trade policy. '
2. Reduction in fiscal deficit.
3. To promote Industrial development.
4. Exchange rate.

Mundz . "~ (®) 1,2and3

(C) 3and4 | (D) 2, 3and4

Epaerm_aupmier eThs sapm S QurgeTTgmy QaraTemaw e Asm_iureng)?
1. auafls QsTarenseni WIHH DNDLOSHD. on
2. FEHU LDPTEGODBL GDHDSHD.

- 3. QgmPer gienperws QUmESSD

4. wrhHmeignd
(A)  1wpped 2 ®) 1,2 wppb 3
(C) 3 wpmb 4 ’ @) 2,3 wpgid 4

87. A works twice as fast as B. If B can complete a work in 12 day‘s independehtly, the number
of days in which A and B can together finish the work is .

’ 4 days (B) 6days
(C) 8days . (D) 18 days

A, B -g L 2 bLig Caswrs Gume Gsaudprt. B-gd @@ Ceumaau gaﬂwns WPlg58
. 12 polaar qgamco A bppib B @meumbd Gsig Sips Caumeau wpiuébs CaaiuBw pnmsrr

A) 4 poiser . : B 6 ;brn_asm
© 8 pmiaser : (D) 18 priser

88. Ram walks 12 kilometer to the north then 10 km east and then 12 km south. How far is he
from the starting point?

(A) 9km . - 13 km
(C) 8km y 10 km

b 12 818 &8ss mLbs Genart 10 £if Sipssnsab whmbd 12 Sif Qppansa|bd bLHSTED, Siauen A
Qsm_sesHSmba SLALNE DHEGED @b aeieuaTey GIFD?
A) 94 B 1348
(Cy 84&sb , D) 1048

PSGS/17 S 34 . B



- 89.

90.

91.

92."

The volume of a sphér.e-shaped shot-put is 310.464 cu.cm, then the radius is
§7 RN . - B 48
(C) 6.4 : S Dy 84 -

TN (Ses'rrmm@m Slewmio o Geora erfl @eria.ein et <iemay 310.464 arafiéd a{,sén ST
@ 42 ‘ . B 48 |

© 64 D) 8.4

In an alphabetical sequence, if ‘EFGH’ is related to 'VUTS’ then BCD is related to

© mw (D) PON

ymflo ausgissd  aflesdad EFGH, ‘VUTS’;]')@ sbopsiuc L srs Qmbsra. BCD'HE
EDERTL 61g) FDWHHLONE B)HEELD : .
(A) YXW S B) YXU
© IYW ' (D) PON

Identify the wrong number in the followi:ng number sequence .
5, 6, 14, 40, 105, 230, 446 ' '
@ 230 . | (B) 105

40 o - D) 446

Qan@ésiinHener erabr uflengudlen gcu;ﬁrrw eTRRTEneRT &ao (Bl &5 Gr@g,ja.
5, 6, 14, 40, 105, 230, 446 p
A) 230 . B) 105

€y 40 ' (D) 448

In three coloured boxes-red, green and blue, totally 108 ba.lls. are placed. There are twice as

many balls in the green and red boxes combined as there are in blue box and twice as many

in the blue box as there are in the red box. How many balls are there in the green box?
(A) 18 o B 36 '

©) 45 —— N 47

. Qursgn 108 upgseT Heutiy, LFes wWHmD fo Hp LOUTEsD @aussILLLE. U&emE LDHIILD

Hautiy LUunssalled e@aussiul L ubgsaidar Qorss aamraslsms o Hip Lusreild meussliurL
upgisaiar aarafismsis @ LLEEGD. B Lliumeld eeudsuulL upgissailan aramafisms
Aeutiy LUumelier eausstiL L Slar @@ LG aTaid LFms Luuredier eneussiuil L Lbgsatien
eregmanfllEena creueueTa]? e ' '

A) 18 : By 36

€ 45 » ®) 54
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93. The area of the rhombus whose diagonals are 20 cm, 12 cm IS

P 120 em? . (B) 200 cm?
(C) 400 cm? (D)_ 600 cm?

Q@6 ST sgITSHen paponeweil L aTayse 20 Qs.8, 12 Q5.8 arafler sigguenw Lptiuemey
(A)  120Qs.18° i (B) 200 Qe
(©) 400Qs.8° (D) 600 Qs.15°

94.  Astudent got twice as many sums wrong as he got rlght If he attempted 48 sums in all how
many did he solve wrongly? ' ,

A 16 _ B 24

_ 32 | D) 30 . s
& 2 __

P wremaue gaQanm shumar £rrsu&@w Bm seupren §rra,|esm dor_isfpg). siaten 48
| EREGE®ET (P ;oé],sgm) gouper 5rreqa;en TEg@Me?

@A) 16 - ®B) 24
(C) 32 . D) 30

95, TheLCM ofli, 12, 2éis

3
A 2 : ® 3 ‘
© 4 ' R T
‘ll 1E OHIYLD 2-1-. e 16.Quim.o oremen?
1’ 3 00 Te gy o |
@ 2 ® 3
5

© ¢+ o

96. nghest common factor of 90, 150 225 is

15 . {B) 30
»

€ 25" - Dy 20
90, 150, 225 @eeuaatien tSLQLI Qung sTyenf

A 15 | (B) 30
©) 25 - Oy 20

. PSGS/NY7 | | | 36 . _ . B



97.

98.

99,

100.

Arun deposited T 4,000 in a bank for 3 years at an interest 15% per annum. What is the
compound interest that Arun will get after 3 years?

(A) 1083.50 . : 2083.50

- (C)  2183.50 D) 2483.50

Di(mewr ererueu T 4,000 ggAga(l_r, amdlle 3 g amBEs, .GU@L.gﬁyb@ 15% auliguiier apaes® Qadignir.
SLLeTSHDE 3 YATHES DG B 6wty eTéucuane Slan_&@D?

(A)  1083.50 n ®B)- 2083.50

(C) 2183.50 (D) 2483.50

If A is older than B, C is older than B but younger than A. D is younger than E and B. B is
older than E. Then identify who is youngest?

@A) A (B) B

© c | WD

B aw & A apdseur, C eremueauic B eow el @ggseurmasmm A eneu el @mmu.:a.tu’rrasmm
D aasuaii E upmyd B ew ol @ednusigrses, B erauei E—amui efh @gga.ujmsseqm 2 _enare.
erasficd @b lseyid @mmu_na.lrr wim?

A A : . ' (B) B
© C ' W, @ D

Ram sold a watch at T 405 and earned-a profit of 20%. What was his cost price?

P 133750 | . (B T87.50

(C) - ¥237.50 D) - T 237

prid eremueut 20% @nUsADE M 405-4@ @@ suaTTHms lpDTH SiFET BILbs eilene eTaen?
(A) ¥ 337.50 . B ¥87.50

(C) ¢ T237.50 ' D) ¥ 237

If SOLAR is coded as WSPEV then LUNAR is decoded as

(A) PXREV

@ PYREV '

(C) PXQEV

(D) PYCEV

SOLAR eraueng WSPEV GTGUI@]LD @,r_{)luﬁL_ura) @Mssre LUNAR eremug) eréueummp @gﬁl&asuu@w?
() PXREV

(B) PYREV

(C)  PXQEV

(D)  PYCEV
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Read the following instructions caréfully before you begin to answer the questions.

IMPORTANT INSTRUCTIONS

The applicant will be supplied with Question Booklet 10 minutes before commencement of the
examination.

This Question Booklet contfins 100 questions. Prior to attempting to answer the canchdates are
requested to check whether all the questions are there and ensure there are no blank pages in the
question booklet. In case any defect in the Question Paper is noticed it shall be reported to the
Invigilator within first 10 minutes and get it replaced with a complete Question Booklet.
If any defect is noticed in the Question Booklet after the commencement of examination it
will not be replaced.

Answer all questions. All questions carry equal marks.

You must write your Register Number in the space provided on the top right side of this page. Do not
write anything else on the Question Booklet.

An answer sheet will be supplied to you, separately by the Invigilator to mark the answers.

You will also encode your Register Number, Subject Code, Question Booklet Sl. No. etc. with Blue or
Black ink Ball point pen in the space provided on the side 2 of the Answer Sheet. If you do not encode
properly or fail to encode the above information, action will be taken as per commission’s notification.

Each question comprises four responses (A), (B), (C) and (D). You are to select ONLY ONE correct
response and mark in your Answer Sheet. In case you feel that there are more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE response for

each question. Your total marks will depend on the number of correct responses marked by you in the
Answer Sheet.

In the Answer Sheet there are four circles (&), ®), © and (D) against each question. To answer the
questions you are to mark with Ball point pen ONLY ONE circle of your choice-for each question. Select
one response for each question in the Question Booklet and mark in the Answer Sheet. If you mark
more than one answer for one question, the answer will be treated as wrong. e.g. If for any item, ® is
the correct answer, you have to mark as follows :

@000

You should not remove or tear off any sheet from this Question Booklet. You are not allowed to take
this Quest.lon Booklet and the Answer Sheet out of the Exammatmn Hal] du.rmg the exammatmn'

The sheet before the last page of t.he Questlon Booklet can be used for Rough Work.
In all matters and in cases of doubt, the English Version is final.

Do not tick-mark or mark the answers in the Question Booklet.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
the Commission may decide at their discretion.




